
How can you always win this game?

Play in pairs. Each player starts with zero.
Take it in turns to choose a number to add to your total.
Each number can only be used once.
The winner is the first person to make the display show 30. If you go over 30, you lose!

You can always win at Race to 30 if:

There are other number 
strategy games on the NRICH 

website 
(nrich.maths.org/1209/index)

Which symbol goes between these two expressions: 

Can you use brackets to find ways where each symbol could be used?

Is there more than one way to do it?

2 x 100 – 60 + 40     >      2 x 100 – 40 + 60
2 x 100 – 60 + 40     <      2 x 100 – 40 + 60
2 x 100 – 60 + 40     =      2 x 100 – 40 + 60

>< =or

2 x 100 – 60 + 40       2 x 100 – 40 + 60
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